
ARM050.400

4x M6 x 30

 

1x

4x J6.4

Rotatable Panel 90°
Angle Coupling

1x

(Remove the yellow tape. Place the gasket with the 
adhesive surface inside.)

TS EN 50085-1

(Place the switch lever( M5x16) into its slot.)     

-

(The switch lever is used to adjust the rotational stiffness of 
the module)

1x M5

 

x 16

M5 x 16



the picture below.)

M6 x 30 (x4)
J6.4 (x4)

(Place the cover on the module and tighten the bolts.)

M4 x 8 (x2)

(Remove the yellow tape. Place the gasket with the 
adhesive surface inside.)



(Angle limiting set screw (M6x10) can be used where 
the module rotation angle is desired to be reduced. 
There are 6 holes on the module.)

(Rotation limit wall)

M6 x 10

157,5

157,5

31
5

(Remove the yellow tape. Place the gasket with the 
adhesive surface inside)

(Make sure that the assembly is done as shown in 
the picture below) 

(Place the module above the panel.)

(Bolts is not included.)

M6 x 30 (x4)



(Make sure that the assembly is done as shown in the 
picture below) ( Bolt connection holes and cable hole dimensions on 

the panel if required for assembly )

63.00

40
.0

0

51
.0

0

82.00
95.00

7.00


